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Physics : Section-A (Q. No. 1 tv 35) |

A wheel of a bullock cart is rollimg on a level
road as shown in the figure helow. 17 its linear
speed is v in the direction shown, which one of
the following options is correct ([ and O are any
highest and lowest points on the wheel,
respectively)?

V
¢
{1} Both the points P and ( move with equal
speed.

(2 Point P has zero speed.
{3} Point P moves slower than point {2,

Code-T1

{4} Point P moves faster than point (.

]

Salenoid - 1 Solenoid -2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solencid-2, respectively, are through the
directions: '

{1y ABand CH (2) BAand DO

{3) ABand DC |{4) BA and CD

Consider the tollowing statements A and B and
identify the correct nnswer :

A, For a solar-cell, the -V characteristics lies
in the 1V quadrant of the miven graph.

B. In a reverse biased pr junction diode, the
current measured in { g4}, is due to majority
charge carriers.

(137 DBoth A and DB are correct.

(2} Both A and B are incorrect.

(3} A is correel but B is incorrect. |

(4)  As meormect but B s cortect.

_zlﬂ#[a,a’l .

A wire of length *!I' and resistance 100L2 is
divided inte 10 equal parts. The first 5 parls are
connected in series while the next 5 paris are
comecled in parallel. The two combinations are
again connected in series. The resistance of this
final combination is:

(1) 530 (2) 600
(3) 260 | 4. 520 |

In the following circuit, the equivalent capacitance
botweon terminal 4 and terminal B is ©

uF 2uF
— T
i o—y =2l e B
iF f—
IuwF 2pF
(1) 0.5pF (2) 4pF
(3) 2pF [ (4} 1pF

The vutput (1) of the given logic gate is similar
to the output of an/a :

3 s
L]

A—1q]

R

(1) OR gate
(3) NAND gatc

| (2) AND gate
(4). NOR gatc

The terminal voltage of the battery, whose emfis
10¥ and internal resistance 1 €}, when connected
through an external resistance ot 4 £} as shown
in the figure is :

-I-ﬂ‘
M LY P
Vo1
— —Asi—
0y
(7 8V | 2) 0¥
() 47 4y 6V
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The mass of a planet is % th that of the earth and

its diameter is half that of the earth. The
acceleration due 0 gravity on that planet i5 :

(1} 49ms? (2 3.92 m 52 |
{(3) 196ms2 ' (4) 98ms?

i g

Inauniform magntpt!c field 0f 0.049 T, a magnetic
needle performs 20 complete oseillations in
5 seconds as shown. The moment of inertia of the
needle is 2.8 = 10°° kg m2, If the magnide of
magnetic moment of the needle 15 x = 1075 ;\m:;
then the value of 'x° is ;

(2) 1280 x°

(4) 12872

If¢isthe velocity oflight in free space, the correct
glatements about Eri'imun among the following
are : )

A The energy of a photon is /=M.
B. The velocityef a photon is ¢.

. The |11|::rnent!|;t;1 of a photon, p= E
"
D. In a photon-electron collision, both total
energy and tbtal momentum are conserved.
E. Photon possésses positive charge.
Choose the correct answer from the options given
below : b _
(I» A.Cand D cmiv LS
(2) A.DB,DandLt only
(3 Aand Bonly

(4) A,B,CandD only

11

{

g
A\

EL-_ n U

|l

The maximum elengation of a steel wire of | m
length if the elastic limit of steel and its Young's

modulus, respacf_i(rely. are § = 108 N m~2 and
210U Nm 2 s d

(17 40 mm L2y B mm 2
(30 4 mm Yl 04 mm

= LAY

Code-T1
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13

14

15

_zlq#[a,a’l .

A lopie circult provides the output ¥ as per the
following truth table :

- —-= =,

I
]
1
]
1

- e

The expression for the cutput ¥is -

(L & @) 8

=
(3)

AB+A 4y 48+4

The moment of inertia of a thin rod aboi.u;an axis
passing through its mid peint and perpe.ndlcular
to the rod is 2400 g emZ. The length of the 400 g
rod is nearly :

(1} 20.Tem {2y MN0em

(3) 85em | (4) 175¢em

In a vernier calipers, (¥ + 1) divisions bf'wemler
scale eoincide with N divisions of malﬁ,suale Ir
I MSDr represents (0.1 mm, the vumlem;mn-;wnl,
{inecm)is -

mmwn;f;

{1y 100% {2y
B =i Ay S
10N 100 (¥ +1)
Match List I with List 11, &
List I List 1T "

{Spectral Lines of {Wavcleugt[_iz_{_{um}}
Hydrogen for
transitions from) (™
Ao me=3tom=2 { 1 4102 ‘I A
B. m=dtom=225 1. 4341
C. m=5wm=2 4 Hl. 66.3 &
D. ma=6wm=29 IVv. 4861

Choose the correct answer from the opfidhs given
below : 0
{1y A-IV, B-III, C-1, D-I1 {4
(2} A-L B-Il, C-ITI, D-IV oy
{3y A-IL B-l, C-1V, D-III Li

A AL BIV, C-11, D-1
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If the monochromalic source in Young's double
slit experiment is replaced by white light, then

{1} there will be a contral bright white fringe
surrounded by a few coloured fringes.

17

1%

(1}

(3)

onwe

(2} all bright fringes will be of equal width.

(3 interference pattern will disappear.

(4} there will be a central dark fringe surrounded
by a few celoured fringes.

(" I %
The graph which shows the variation of | _,12 l
LA

]
-

and its Kinetic energy, £ iz (where 4 isde Broglic
wavelangth ol a free particle) :

Match List=1 with List-T1.
List-1

(Material)

[Niamagnetic 1.

Ferromagmetic IL.

1I.

Iv.

List-II
(Susceptibility (7))
w=1

0= y=—|

Paramagnetic paar

D=3 < B {asmall
positive number)
Choose the correct answer from the aptions given
below:

{1y A-IL B-IL C-1, D-1V

(23 ATV B-NL CJ1L T !

MNon-magnetic

(31 A-Il, B-IIL C-IV. D-1

1%

41 A-lLL B-LOC-I -1V '

Anunpolarised light beam strikes g glass surface

at Brewster®s anzlc. Then

(1) both the reflected and refracted light will be
completely polariscd.

12

the reflected light will be completely
polarised but the refracted light will be
partially polariscd,

the reflected light will be partially polarised.
the refracied light will be completely
polarised.

Code-T1

2

21

22

23

_zITﬂE,a’I .

A particle moving with uniform speed in a circolar
path maintains ; '

(1)

constant velocity but varving aceeleration,

(2}

varying velocity and varving acceleration,

(EN]
g
The quantities which have the same dimensions
as those of solid angle are :

{1} strain and arc
(2) angular speed and stress

constani velocity,
canstant acceleration,

{3} strain and angle

(4

stress and angle

A bob is whirled in a horizontal plane by means
of a string with an initial speed of @ rpi. The
tension in the string is 7 If speed becomes 2

- while keeping the same radius. the tension in the

string becomes :

(1) % (2) 21
3y T | (@) a7
J‘«"

i k)
- | r .
If x=S5sin| mr + Py | represents the motion of a

particle executing simple harmonic motion, the
amplitude and time period of motion, respectively,
are

(1Y 3em. s
{3y Sem.2s

(2 Sm,1s
| g} Sm, 2 s |

A thermodynamic system is taken through the
cycle abeda. The work done by the gas along the
path be s

(3

300 kPal - --
.
100 kPa --~K#

A .
00 mm?  400emd
—3
{1y —S0J (2) —60.f
{}): FEro {4y 30.f
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27

28

Given below are two statements ©

Statement 1 : Atoms are electrically neutral as
they contain equal number of positive and
negative charges.

Statement I ; Atoms of cach element are stable
and emit their characteristic speetrum.

In the light of the above statements, choose the

moxi approprigte answer from the options given
helow

(1} Statement 1 is correct bul Statement L 15
incorrect,

(2) ‘Statement 1 is incorrcet but Statement 11 is
correct. )

/I:;} Both Statement | and Statement 11 are
correct.

{4} Both Statement | and Statement II are
incorrect,

. Np
I an ideal transformer, the turns ratio s W, :E'

The ratio V@ ¥, is equal to (the symbols carry
their usual meaning} :

(i 1:1 2y 1:4

(3) 1:2 | @) 2:1

Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v; while body B
is at test before collision. The velocity of the
system after collision is v,. The ratio v . v, is:

(y 4l (2) 1:4

(3 12 L@ 2 |
woy_@ .y € 7 B ,p_ .0
§2 - > > »(J

In the nuclear emission stated above, the mass
number and atomic number of the product
respectively, are
(1} 238 82
(33 280. 81

| (2)~ 286, 81 |
i4) 286, 80

Code-T1
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_alq#[a.ﬂ’l .

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reazon R.

Assertion A : The potential (1) at any axial point,

at 2 m distancaf{#) from the centre of the dipole
—

of dipole moment vector £ of magnitude,

4= 106Cm,is +9x1(° V.

0y
{lake req = 9= 107 57 ynits)

y

Reasan R : == i 7, where r is the
4Msn b

distance of any axial point, situated at 2 m from

the centre of the dipole.

In the light of the above statements, choose the

correct answer from the options given helow:

| (13 A is true but R is false. |
{23 A is false but R is true.
{3} Both A and R are true and R is the correct
explanation of A
(47 Both A and R are true and R is NOT the

correct explanation of A,

A thin spherical shell is charged by some source.
The potential difference between the two points
€ and £ {in ¥ shown in the figure is:

{Take =9x10” 51 unils)

TSy

(1} 0.5=10° (2L zero
{3y 3% 10 EYIERLE

A thin fat circular disc of radius 4.5 em is placed
gently over the surface of waler. If surface tension
of water is 0.07 Nm™!, then the excess force
required to take it away from the surface is :
(1} 198 mN (2)y 99N

| (3) 19.8mN |{4) 198N
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33

A light ray enters through a right angled prism at
point P with the angle of incidence 307 as shown
in figure, It travels through the prism parallel w
its base BC and emerges along the face A The
refractive index of the prism is:

% 1

A ¥y

P-J|f;-]

@

4

4

ulﬁh-]

i
At any instant of time £ the displacement of any
particle is given by 2# 1 (51 unit) under the
influence of lorce of 5N, The value of
instantaneous power ig (in SI unit):
(1 7

2) 6
(3L 10 [4} 5

34

Y]
A tightly wound 10Diturns coil of radius
L0 cm carries a currentof 7 A, The magnitude nf
the magnetic field at the centre of the coil is{Take

permeability of free space as 4n < 1077 SI units):

(1} 44ml (z} 44T

35

3} 44 mT 4) 44T

¥
A horizontal foree 10 E‘I."f-.-. applicd to a block A as
shown in figure, The thaks of blacks A and £ are
2 kg and 3 kg, respecti¥ely. The blocks slide over
2 frictionless surface. The force exerted by block
Aonblock B is :

i T

F=10§ N i

———k 2 kg 3kl{li
PR e A AT rEE Ia’}'fff’ffff'{’ﬁff'ffff
(1) 6N @ 1N
3 zero 4) 4N

Code-T1
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37

‘35

39

40

Physicy : Section-B (Q. No. 36 w0 50) |

A small telescope has an objective of focal length
140 ¢m and an eye piece of focal length 5.0 em,
The magnifying power of wlescope for viewing
a distant object is:

(1) 17 @)_32
3) 34 (43528

Two heaters A and B have power rating of | kW
and 2 kW, respectively. Those two are first
connected in series and (her in parallel to a fixed
power source. The ratio of power outputs for these
WO Cases is:
(1) 1:2

(3 1:1

{2],---_12. i,
{4};: {2 -4
O F

If the mass of the boh in"_-éfsimpie pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

ii]

perind of oscillation is 5 times its original time

period. Then the value of x is:

1) 243 (204

3) 3 @y o3

A parallel plate capacitor i?:&argmi by connecting

it to a hattery through a resigtor. [T ] is the current
in the circuil, then in the gap between the plates :

{1} displacement current of magnitude cqual to
I flows in a direction @pposite to that of 1.

- (2} displacement t:urn:n%"ﬂf magnitude greater

than | flows but canbe in any direction.

. = i
{3)~there is no current,

{4) displacemeni uurren!% ﬂf‘ magnimde equal (o
[ flows in the same direction as |

A metallic bar of Young's modulus,
0.5 % 10" N m~? and coeffitient of linear thermal
expansion 1077 °C-1_ Idpgth 1 m and area of
cross-section 1077 m? is heated from 0°C to 100°C
without expansion or b-criﬂfn g. The compressive
force developed in it is:

(1 100=10° N (). 2= 103N

(3) s=108N (1) 50= 103N
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41 The velocity (v) — time (4) plot of the motion of 2 | 44 Choose the correct circuit which can achieve the
body is shown below : bridge balance.
£
T
k i) —
The acceleration (@) - time (£} graph that best suits (1) (2}
this motion is : I
X
;‘ ,Ir‘ E
: [
£ :
> T
(I 7o o | G—E’L)I(F]"?
- ~1 3) )
E E
- :
(3) 0 ) — (4) e —
45 Ti tv which i : i
42 The following graph represents the T-V curves of R . N ,m '3 not of fm clectromagnetic
an ideal gas (where T is the temperature and V wave travelling in freo space s that:
the volume} at three pressures P, P, and P,
compared with those of Charles’s law represented . l
a5 deitted Tings. (1) they travel with a speed equal to w.l'lll—n o -
{2} they originate from charges moving with
<" uniform speed.
iy {(3) they are transverse in nature.
Then the correct relation is: {(4) the energy density in electric field is equal
() P>R>R (2% P>P>P to energy density in magnetic field.
() B=h=N 4y H»ly>0
46  Themini required i
43 A 10 pF capacitor is connectedto a 210 V, 50 Hz © m"f'mum energy required to launch a satellite
source as shown in figure. The peak current in of mass m from the surface of earth of mass M
the circuit is nearly (z=3.14): and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:
=1]—
( CmAd GmAd
1] Y 5o
2R @ T3z
210 ¥, 50 Hz
JGmM 20imM
(1) 1.204 {2) 0354 &) 6 R {4) IR
(3) 0.58 .4 | 4 0934
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[l'the plates of a parallel plate capacitor conneeted

tr a battery are moved close to each other, then

A, the charge stored in it, increases.

B. the energy stored in it, Hecreases,

. its capacitance II'JLr(-.‘.d;H‘H

. the ratio of charge m IJ::. poiential remains
the same,

. the product ml'chargefﬁr’%d voltage increases.

Choose the most approprigte answer from the

options given below:

¥ B,DandConly (2} A, Band C only

i3y A.Band E only |[4]| A, C and E only
{:"'._":! .

A Toree defined by 7 = 2—"—7—![}: actson a particle

]I‘i‘é factor which

dimensionless, |f‘ o and B “me consLants, is:

al a given time o 15

() (“]N‘V a
L | ""'fl';gl\
o A @ e

A sheet [s placed on a hor zontal surface in front
of a sirong magnetic pole.’s Ai foree is needed to ;
A, hold the sheet there If'ﬁ is magmctic.

B. held the sheet there l_tﬁ is nen-magnetic.

C.  move the sheet awayfrom the pole with
uniform velocity il it fsi conducting.
£ -
1>, move the sheet uwe{‘y from the pele with

unitorm velocity if it is both, non-conducting
and non-polar, _
Chonse the correet statenfehit(s) from the options

given below: v
{1y A CandDonly =7
(2} Conly :'1.'
{31 Band D only Oy
{4) Aand C only ‘_f

=3

An iron bar of length 1. has magnetic moment M.
M is bent at the middle offits length such thart the
Lwo arms make an angle 864 with each other, The
magnetic moment of thisdew magnel is:

i:f'sM

(1] 2M (2}; el

3) M (4 ‘%
_

Code-T1
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Chemistry :

51

&

52

Section-A {Q. No. 51 to 85) |

Mlateh List 1 owich 1.is 11,

List 1 List 11

{'rocess) . {Conditions)

A, lsothermal :i No heat exchange
Process oy

B. lIsochoric “TI Carried out at
process :; : constant temperature

C. lsobaric iHL Carried out at
Process constant volume

3. Adiabatic V. Carried out at
process {5 constant pressure

Choose the correel Answer from the options given
(o g
below: )

(1) Al B, C-fﬁ:;'pw
[8(2) A-L B-H1, CAV -
(1) A-IV, B-IIL CHF, D-1
(4)  A-IV, BAIL C-TI1. D-1

O
Given below are twoejstaterments:
Statement [ : The boiling point of three isomeric
pentanes follows tﬁ—&*brder

h-penlane = 1wpugafle > neopentang

Statement 11 : When branching increases, the
molecule attains a shape of sphere. This resulis
in smaller surface arca lor contact, due to which
the intermolecular forces berween the spherical
muolecules are wvtlﬁ_;fhcmh}f lowering the botling

7 ¥
L]

poInt.

, gi
In the light of tha’ojiﬂve statements, choose the
most uppropricte guswer from the options given
below:

[y

{1} Stztement ] is correct but Statement 11 is
meorrect. Ty

(2} Statement [ i§ incorrect hut Statement 11 is
correct. ”3

|. i37 Bolh Slutemeﬁj and Statement [ are eorrect.

(4} Both Statendent | and Statement 11 are

incorrecl, M
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53  Match List 1 with List I1. 56 Spin only” magnetic moment is samé for which
List T List 11 of the following ions?
{Muolecule) (Number and types of A Tiv B Cr
hond/s hetween two C. Mn®* D TFe?r
carbon atoms) E. Seit .
A. ethane L4 one o-bond and Choose the most appropriate answer frem the
U5 two -bonds options given bélow:
3. ethenc e two n-bonds {1y DBandC bhly
. earbon HL  one a-bond (2) A and D blaly
molecule, C; g | (3) Band D unly
. ethyne Ve one o-bond and ()Y Aand F anly
one s-bond . ] 87 On heating, Rt:.lg!’f{t solid substances change from
l:fh[ﬂoz.L the correct answer from the options piven solid 1o vapuur slale witheul passing through
LYY LY

liquid state. The technigue vsed for the
| purification UrHﬁLh solid substances based on the

above prmupfﬁss known as

| o(1) AN BV, C- lL EJ-I
27 AT BTV, C-T, |1

(31 A-L. B-IV, ‘:-1-115&1”1 . (1} Distillati
(41 A-IV, B-IIL C-1Ep-T (2) Chromatégtaphy
.y (3} Crystalli>ation
o | Which one of the ;‘?glnwing aleahals reacts | A Sublimation

mstantaneousy with Lucas reagent”! — H -
58 The energy of an electron in the ground state

(11 CH, - CH-CH,0H {n=1)far e’ ian is —x I, then that for an clectron

CH, '™ in n =2 state for Be* ion in J is :
4 Ll
ci, (1)  4x :i (2) gx
» (2) CH, © oOH *” . O .
CHy .oy I [T I b
{31 CH, -CH, ['IF;EL"II,{JH 5% Activation &L]:%y ol any chemical reaction can
. . i ) be calculated if one knows the value of
(4) CH,CH,- CH Ol (1) orientation of recactant molecules during
CHy collision,, |
¥ : l'@.} rale constant at bwo different temperatures, |
55 Mateh List I with L 1%5; \L (3] raic mns’g}m af standard femperature.

List I ;_g'r List I1 {1} probability of collision.
Ejm::;um}umher nfnr:::;;:‘;'::ﬁ:glml 60 Which plot -:!Frln k vs IL iz consistent with
B. m, M ‘II. size of orbital Arrhenius LL]Lia-lgu-n"

(ORI I orientaton ol
i orbital T i T "_\
D.om wal¥.  orientation of spin = N P
$3) of eleetron (M | ; (= {EL,,_
Choose the correct agywer lrom Lhe oplions given T & + —-
below: i {1} .
{17 AIIIBWCH;:bI T Wi fi
(2) Al B-L, C-IV; BrllI f//ii fpff
(31 A-1L B-I1, G-, D=1V 3y = i (1 =]
| (4 AL B-1V, C-1 D-II | T B
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Given below are two statements; 65

a1

62

63

Statement I ¢ The boiling point of hydrides of
Group 16 elements follow the order

H,O = H;Te > H,8e > H,5.

Statement I1 @ On the basis of molecular mass,
H4( is cxpected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in HyQ, it has
higher boiling point.

In the light of the above statemenis, choose the
correct answet from the options given below:
(1) Statement 1 is true bul Statement 11 is false,
(2) Statement 1 is false but Statement 11 is true,

| (3)

Both Statement [ and Statement [l are true. |

(4} Both Statement | and Statement [l arc false.

The reagents with which glucose does not react
o give the corresponding tests/products are

A. Tollen's reagent

B. Schiff’s reagent

C. HCN

D. NH,OH

E. NaHSO,

Choose the correct options from the given below:
| (1) BandE |{1} E and D

(3) BandC 4 AandD

Arrange the following elements in increasing
arder of first ionization enthalpy:
Li, Be, B, C. N
Choose the correct answer from the options given
helow: '
(1) Li<Be<C=<B<N
(2) Li<Be<N=<B=<C
{3) Li<Be<B<C=<N
| (1) Li<B<Be=C<N

Arrange the following clements in increasing
arder of electronegativity:
N, 0, F, C, Si
Choose the correct answer from the options given
below:
(1) O<F=N<=C<5i
(2) F<O<N=<C <5i

l-(.’.) S51=<C=N=0D=<F |
(4) 5I<C<0O<N<F

67

_zlq#[a,ﬂ’l .

The E® value for the Mn®*/Mn?" couple is more
positive than that of CritiCr2® or Fe3/Fe2™ due
to change of

([ d4 to d? configuration

(2) d to d® configuration
(3) d7 to d* configuration
(4) d to d? configuration

bAatch List [ with List 1],
List I List I
{Compound) (Shape/gcometry)
A, NH; 1.  Trigonal Pyramidal
B. BrF; II. Square Planar
C. XeFy [, Octahedral
D. SF; IV. Square Pyramidal
Choose the correct answer from the options given
below:
(1) A-IL, B-IY, C-I, D-11
e (2)  A-IL B-IIL C-IV, D-1
| (3) AL B-lY, C-1, DIl
{(4) A-ll, B-1V, C-IlI, D-1
Match List I with List 11
List I {Complex) List 11 {Type of
isomerism)
A [co[mH ) (Noy}lcl, L Solvate
150merism
B. [ Co(Nm, ), (s0,)]er Il Lirkage
isomerism
. F“(NHS),&] [Cr{ CN}E_] Ill. lonization
isomerism
D. _CD(HED}&]UJ IV. Coordination
isomerism

Choose the correct answer from the options given
belawe:

(1) AL, B-IV, C-NIL, D-N
(2) A-ll, B-1V, C-lIL, D-1

(3) AL B-IIL C-1V, D-1

(4) A-l, B-1IL, C-IV, D-1I
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69

Rl

Intramolecular hydrogen bonding is present in

N(),
o (I

HO ih

() HF f
; CI

@ OH

NU:

(4) ~.-

HO 7

.'-: ;

)

Given below e two statements:;

Statement I : Aniline does not underzo Friedel-

Crafts alkylation reaction.

Statement IT yéAniline cannot be prepared through
Gabricl synthesis.

In the light at:tfnc above statements, choose the
A |

correct answer-irom the options given below:

(1} Statement [ is correct bhut Statement 11 14

false, ¢y

(2} Statemeﬁt}_f[ is incorrect but Statement I is

true, ¢y

{3;), Both Stﬁ'_Lei:nent I and Statement 11 are true

{4) Both Statément 1 and Statement 11 are false.

i -&:
The highest number of helium atoms is in
% 2 o
{1y 4gof h'E:I'_i!;I]TI

(2) 2271098 'L of helium at STP

0l

il i
(3) 4 mol ofihelium » }, il |

(4y 4 uofhelium

Code-T1

71

72

73

List I {Reaction)

_alqﬂ:[a,a’l .

Match List [ with List 11,
List IT (Reagents/
Condition)

A (D:O—rzo I @)k(—_.”

B. @a@J il
C. O/DH—*C:F'”

Anhyd. AICI;

Cro,

. KMnO,/

KOH, A
CHCH, !
p. €I V. ()0,
COOK 14
o (i) Zn-H,0
%9

Choose the correet, Answer from the options given
below:

ATV, B-1, CI‘] C-M01 =
(3) A-IV, Bl C-ITL, DI
A-NIL B-l, C-11, D1V

Tdentify the curlre.f.:t reagents that would bring
about the following transformation.

(—cny H‘i‘[Hz
<:>—,r:H2 CH, - CHO

(1) (i) BlHy ¢y

=
(i) HZDZ/DH
(i) alk. KMnO,

(iv) H.O®?
@ 0 Hom
Gy pée
(3) (i) H,O/A%
(i) Crd, T F
(1) (i) BHy 7}
- . . fa
(11) Hzoz/ OH
L .
i) PCC 1

The compound that will underge Sy' reaction
with the tastaest m& 15

CH,

M O/B' ’i & @AJBQ

(3 <:>/\Er () D—BI
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—

BALUNI

CLASSES

A Premier Institute for MEDICAL & ENGINEERING Entrance Exams.

T4

Fehling's sulution “A’ is
(1) alkaline solution of sodium potassium
tartrate { Rochelle's salt)

(2} agueous sodium citrate

| 3)

aqueous copper sulphate |

{4} alkaline copper sulphate

The most stable carbocation among the
follorwing is:

{1 O—gHz

3 CH*.!_

76

(2)
CH,

(3) chﬁgﬁ)\cﬂ}
CH,

& &

(4 t'J!/'i\CH'/|
bt ] '1
CH;

For the reaction 2A =1, C, Kc —4%107  Ata
given time, the compesition of reaction mixture
is: [A]=[B]=[c]=2x107"M.

Then, which of the following is comect?

(13

Reaction has a tendency to go in backward
direction.

(2)

Reaction has gone 1o completion in forward
direction.

(3)
(4

Reaction 1s at equilibrium. «
Reaction has a tendency to go in forward
direction.

The Henry's law constant (Kpy) values of three
gases (A, B, C) in water are 145, 2x10~° and
35 kbar, respectively. The selubility of these gases
in water follow the order:

{(h A>C=>B 2y AxB>C

() B>A>C |{u B>C>A

Code-T1

T8

79

| 80

51

82

_alﬂ#[ta’l .

A compound with a molecular formula of C.H, ,
has two tertiary carbons. Its [UPAC name is:

(1) 2,3-dimethylbutane

(2) 2.2-dimethvlbutane
(3) n-hexane
(4) 2-methvipentane

In which of the following equilibria. K_ and K
are NOT equal?

(1) COw, + HyO = COyy + Hyyy
(2) 2BrCl,, = Bry, + Cly,,

(a3

PCI:-]{E] = FCISlg} + Clltgj

() Hyy ! L,y = 2Hl,
Which reaction is NOT a redox reaction?
() H,+Cl, > 2 HCl
| (2) BaCl, + NayS0, — BaSO, + 2 NaCl
(3) Zn+ CuSOy — ZnS0, + Cu
(4) 2KCIO;+1, = 2KIO;+Cl,

Given below are two statements :

Statement 1 : Both [CG(NH})I&T-'- and I:Cnpﬁ :3'

complexes are actahedral but differ in their
magnetic behaviour.

3+
Statement I1 ; [CD[NHg}ﬁ] is diamagnetic

whereas EL{':;:-I-'&JS_ is paramagnetic,

In the light of the above statements, choose the
correct answer from the options given below:
(45 “Statement | is true but Statement 11 is false.
(2) Statement | is false but Statement I1 is true.
(3) Both Statement | and Statement 11 are true.
(4) Both Statement | and Statement Il are false.

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCI solution, the mass of sodium
hydroxide left unreacted is equal to

{1} Zeromg {2) 200 mg
(3} 750mg | (4) 250mg
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| Chemistry : Scetion-B (Q. No. 86 to 101) |

83  Among Group 16 clements, which one does NOT | 86 Major products A and B formed in the following
show =3 axidation stata? reaction scquence. are
3) O (4) Se 5, 4 uleKoH
{major) { major)
. . . OH H
84 In which ol the following processes entropy e P 0
increascs? 4 N . B=
A. A liguid evaporates to vapour, -
B. Temperature of a crystalline solid lowered 4L :ﬂH Ar 1L It
“from 130K to 0 K. ) U B
r ’ Rr
D. Clyg, =2 Cly, ' H4L; H,C
Chaose the correct answer fom the options given () a- HERLES \O
below:
Bi
| (1) A, Cand D |(2} Cand D I, H-0
(3 AandC 4) ABandD A= : B= O
85 Match List | with List 11, 87  Considerthe lollowing reaction in a sealed vessel
List 1 List [T al equilibrium with concentrations of
e =2 _3' — _:"'
{Conversion) {Number of N = T MM' =i 107V o
MO=28=10-M,
Faraday required)
' ZMNOY, =N RO
A lmolof OO, 1. 3F el ™ 2le) T 2e)
If 0. Lof is Laken i sed vess
B. 1 mol of MAO? to L 2F I mol L1 ol ND{E} 15 Laken in a closed veszel,
what will be degree of dissociation (@) of N Y
Mn i+ al equilibrium?
C. 1.5 mol of Ca from m. ¥ (1) 0.8889 | 2y 0717
molten CaCl, (3} 0.00889 {4y 0.0839
D. Tmolof Fe(yic Fe,Oy IV, 5F

88  'The products A and B obtained in the following

Choose the carrect answer from the options given reactions, respectively, are

below: 3ROH — PCl,—»3RCl + A

(1) A-IL B-TIL, Cel, DIV RO + PCL,—RCI+ HCI + B

(2} A-LIL, B-IV, C-I1, -1 (1) H3PO, and POCI, L/l

() AL BV, C-L, DIl | [ () H;PO;and POC 2|
- (3} POCI; and H{POy

(4] AL BV, C-1, DI (4) POCIl; and HyPO,

DEHRADUN : 9690000899 | AGRA : 9837919228 | MATHURA : 8838899111 | KOTDWAR : 7251048466 Page # 13
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39

Given below are certain cations. Using inorganic
qualitative analysis, arrangs them in increasing
group number from 0 e V1L

A, ARt B. Cu®

C.; Ba™ D. Co™

Eiy Mg

@}ymse the correct answer from the options given
below:

& EC.D.B.A

2) E.A.B.C.D
(3} B,A.D,C.E |

o4

(4) B,C,A, D E

f‘_'.fl'li-'ring the preparation of Mohr's salt solution
f_ errous ammonium sulphate), which of the
following acid is added to prevent hydrolysis of
Fe?* jon?

(13 dilute nitric acid

fﬂ]' dilute sulphuric acid |

a1

(3y dilute hydrochloric acid
(4) concentrated sulphuric acid

'f"h:;- work done during reversible isothermal
é@ansiun of one mole of hydrogen gas at 23°C
from pressure of 20 atmasphere to 10 atmosphere
15.

(Given R = 2.0 cal K=! mol-1)

(1) 413.14 calories

2y 100 calorics

_43)} O calorie

(4} —413.14 calories |

92

By
For the given reaction:

_ KMnQ,H® o
@-:‘f-cu nOy H™  op
=

T

D {mayor
i product)
Pis
£ OH OH

: I

i .
M {O-cn-en—<)

o

(2) Cc-C
@ O

Code-T1

93

05

96

_alq#[a,a’l .

The plot of psmotic pressure {1 ) vs concentration
(mol L1} for a solution gives a straight line with
slope 25,73 L bar mol-!, The temperature at which
the osmotic pressure measurement is done is:
{Use R =0.083 L bar mol~! K

(1) 25.73°C 2y 12.05%C

(3) 37°C |y 310°C

[dentify the major product C formed in the
following reaction sequence :

-
CH;—CH, —CH, - 1NN,
ol ol |

. MaDH .
Br2 (major)

QH™
Partial hydrolysis =

[ E0]

{17 bhutanamide

* :
{2) a—bromobutancicacid
-r""'f :

| {3) propylamine

{4} butylamine

A compound X contains 32% of A, 20% of B and

remaining percentage of C. Then, the empirical

formula of X is : ;

{Given atomic masses ofA=64; B=40:C=32u)

(1) AB,C, (2) ABC,

(3) A,BC, | 4 ABG, |
& i

The rate of a reaction gquadruples when
teinperalure cltanggsiﬁum 27°*C to 57°C,
Calculate the energy of gctivation.

Given R=8314 J K- nol', log 4 = 0.6021
(1) 3.80 kJ/mol '
(2y 3804 kJ/mol

|

(3) 38.04 Ll'mel

(4} 380.4 kl/mol
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r Botany ; Section-A (Q. No. 101 to 135)
U7  ldentify the correct answer. 101 [n the given fgure, which component has thin
(1) Dipole moment of NF; is greater than that outer walls and highly thickened inner walls?
of NI1L;.
(2) Three canonical forms can be drawn for
CDE_ ion.
(3) Three resonance structures can be drawn for
ozone.
(4) BF4 has non-zero dipole moment. (1} A (2) B
fd- = A
‘ _ | 3 C. (1) D
98  The pair of lanthanoid ions which are diamagnetic
is .
102  List ol end ies w I -
(17 Gd3* and Eu?t %3 Fg;]:; gered STT:?S Tiﬁ cased by
(3) Pme" and Sm’* (3) GEAC :J WWF.
(3) Cet and Yb2- “)
4) Ce'' and Eu** :
() 103 The type of conservation in which the threatened
) specics are taken vut from their natural habitat
99 Given below arc two SEADSNEINTS ; and placed in special setting where they can be
34 protected and given special care is called;
Statement 1 : [CU[NHj)ﬁ] is a homoleptic (1) Semi-conservative method
- (2) Sustainable development
complex whereas [Cu(NH3)4C11J is a (3) in-situ conservation
heteroleptic complex. (4) Biodiversity conservation
34
Statement II : Complex [{‘ G(NHg) J hasonly | 104 Which one of the following can be explained on
the basis of Mendel’s Law of Dominance?
+ -
one kind of ligands but [Cu(?qua) Clz} has A. Out of one pair of factors one is dominant
. kind of lizand ! and the other is recessive,
more | .an one kind of hgands. B.  Alleles do not show any expression and bath
In the light of the above SthtEnlE]‘ftS.. choose the the characters appear as such in F,
correct answer from the options given below: weneration. .
(17 Statement | is truee but Statement [1 is false. C. Faclors oceur in pairs in normal diploid
{2) Statement | is false but Statement [1 is true. plants.
| {3 Both Statement | and Statement Il are true D. The discrete unit controlling a particular
{4) Both Statement [ and Statement [l are false. character is called factor.
E.  The expression of enly onc of the parental
100 Mass in grams of copper deposited by passing characters is found in a monchybrid cross.
9.6487 A current through a voltmeter containing Chouse the correct answer from the options given
copper sulphate solution for 104 seconds is: below:
{Given : Molar mass of Cu : 63 gmol™!, (1) B.C and D only
1F = 96487 () (2}~ A,B,C, D and E
'I:” 3].5g {2} 0315 E [3} A,Band{.? DII'}’
3y 3.15¢ | (4) 0315g | (@) A, C,DandEonly
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105 The lactose present in the growth medium of

bacteria is transported o the cell by the action of!
[(1] Permease |

{21 Polymerase » L

(37 Deta-galactosidasE 1

(47 Acetylase &

fan]
¢

106 Match Tist T with 1 ist |’|

List 1 o List 11

A Clostridium g ] Ethanol
hutyficum

B. Sacchoarosnces ; ]J . Streptokinase
Corevisiog

C.  Trichodzrma Jil. Butyrie acid
v porian 'l,,

D, Sweepiococeus sp. JJ\.' Cyelosporin-A

Choose the correct aAnswer, irm‘n the options given
below: i}
|. (1} AL B-L CAIY, D11
(2} A-IV. B-1, C-IIL -1
(3} A-lIL B-L C-lIL. DIV,
(41 A-1L B-1V. C-I11. -k

107 The equation of VerhulstEPearl logistic growth is
M
— A 4.

Al Ih-N ]
ot B

From this equation, & iﬁ:]fuale:;:
« (1] Carrying capacity |
{21 Population density;
(31 lotrinsic rate of 1'IEI1£_L11.;E1 increase
(4) Biotic potential o+,

Ty

108 A transcription unit in DN is defined primarily

by the three regions in DI}IA and these are with

respecl to upstream andidéwn stream end;

(17 Inducer. Repressor, Structural gene

»(2)  Promotor. Structural gene. Terminator |
(3) Repressor. Operator gene. Structural gene
(11 Structural gﬁ:l]l::‘,']-ﬁi-.ﬂﬁpt!ﬂ{]ﬂ&i, (perator gene

Farmation of mtenfnqcmﬂnrcambmm from fully
developed parenchyvma cﬂjlﬁ i5 an example for

| «(1) Dedifferentiation | : |
{21 Maturation
{(3) Differentiation
{41 Redifferentiation

109

Code-T1

_alqﬂ:[a,a’l .

110 Mateh List [ with List 11

List [ List 11
AL Rhizopus . Mushroom
B.  Usiifago II. Smut fungus
C. Puccinia . Bread mould )
D, Agaricis IV. Rust fungus 4
Chaose the correct answer from the oplionggiven
b lonw: 1
(1) AL B-IL C-L D-IV |
(2 A-INV B-HL CHL DA i)
[4(3) AL B C-IV. D-| ey |

4y A-L BT C-T0, 13-V

1L What is the fate of a piece of DNA carrying.gnly
gene ol interest which is transferred into an ﬂiluz:
organism?

A, The prece of DN A would be able 10 mu‘i ply
itself independently in the progeny ce ::; of
the organism.

B.  ltmay get inlegrated into the genome, u]llht:
recipient.

C. It may multiply and be inherited along with
the host DN AL )

. The alien piece of DNA is not an ir"l't'égral
part of chremosome. T

L. It shows ability to replicate. eh

Choose the correct answer from the aprmnﬂgiven

beloma: i
[ (1) Band Conly S
(27 Aand Eonly ]

(3 AandBonly

e (4) Dand E only
112 Maich List | with List I] =
List T List I i
AL Muclealus I Site of formatien
of glveolipid
B. Centriole 1. Organization like
the cartwheel | 11
C. Leucoplasts 1. Site for active
ribosomal RNA
synthesis :
D. Golgi IV. Forstoring '
apparatus nutrients "
Choose the eorrect answer from the optionS'given
below: o
{1} A-1IL B-1V. C-lL. D-I Y
v2) A-L B-ILL C-NL, D-1Y i1

(613} A-NIL B-11 C-1V. D-I |
@ AT B, CL, DTV
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113 Identify the type of flowers based on the position | 117 Identify the set of correct statements:

of calvx. corolla and androecium with respect to A.  The flowers of Yallisneria are colourful and
the ovary from the given figures (a) and (b} produce nectar,
o B. The flowers of waterlily are not pollinated
. by water. .
A C.  In most of water—pollmaled species, the
{_:_: pollen grains are prcl-tec'pgd from wetting.

1. Pollen grains of some h);dmph}*tes are long
i and ribbon like.

-3 E. Insome hydrophytes, tﬁe"mllen grains are
4 carried passively inside ?mrer

Chaoose the correct angwer from the options given

{1} (a)Perigynous; (b} Epigynous, below:
| { {2;} (a) Perigvnous: (b) Perigynouse | {1 A,C.DandEonly . .
(3) (a) Epigynous: (b) Hypogyndus, «{2) B.C,Dand Eonly J
4 (@)l ) . (b) Epiggyridils {3y C,DandL only .
(4) (a) Hypogynous; (b} Epigy -y @) A B CandDonly
) . T
114 Spindle libers attach to ki:ﬂ’;—liucllm‘e& of | 118 The cofactor of the enzyme carboxypeptidase is:
chromosomes during (1} Flavin {2) Haem
(1) Anaphase {2y Telophase [(3) Zinca | {4y Niacin
(3) Prophase | (4) MetapHase . | S
1 119 Inhibition of Succinic dehydrogenase enzyme by
T malonate is a classical example of:
115 These are regarded as major causes of biodiversity §{1} Competitive inhibition |
loss: : £ {2} Enzyme activation 48
A, Ower exploitation ) (3) Cofactor inhibition
B. Co-extinction L (4} Feedback inhibition %
il
i Mum[iﬂ‘“ 44
. . 120 Which of the following is an example of
>, Habitat loss and fragmentat_;qp actinomorphic flower?
E. Migraticn =4 (1Y Pisum (2) Seésbania
Choose the cortect option: th | 3y Datura |{4J| Capsia
-og,
{1y A,BandE only ” e
& 121  Given below are two statemehis:
2 A Band D anl "
|' @ ¥ { — l Statement T : C hromosnmés become gradually
(33 A, Cand D only it} visible under light mtcmscﬁpé during leptotenc

{4y ALB,Cand Donly stage.
% Statement I1 ; The begining of diplotene stage is
116 Lecithin, a small molecular w&ight organic FeRopnized iy disschuionnt syraptonemal

T lex.
d found in living tissuck! Is an exampl comp
CTIPRING TR 1 OB e ;_::1’ y A ExAmpe In the light of the above statgmenm choose the

o ) ] correct answer from the optigns given below:
(1} Glycerides e (1) Statement 1 is true but $tatement [I is false
(2} Carbohydrates . (2) Statement 1is false butStatement 11 is true
{3}y Amino acids |. {3y Both Swatement | and Statemnent 11 are true
| {4} Phospholipids | (&) Both Statement T and Statement 1T are Talse
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122 A pink flowered Snapdragon plant was crossed

with a red flowered Snapdragon plant. What type
of phenotype/s isfare expected in the progeny?
(h
2)
3)
v (4)

Only pink flowered plants

Red, Pink as well as white flowered plants
Cinly red flowered plants

Red flowered as well as pink flowered plantsl

123  Given below are two statements:

Statement I : Parenchyma is living but
collenchyma is dead tissue.

Statement II : Gymnosperms lack xylem vesscls
bul presence of xylem vessels is the characteristic
of angiosperms.
In the light of the above statements, choose the
correct answer from the options given below:
(1} Statement | is true but Statement IT is false
| @
% (3)
(4)

Statement 1 is lalse but Statement 11 is lruel

Both Statement 1 and Statement I are true
Both Statement | and Statement 11 are false

@ Giiven below are two statements:

Statement I : Bt toxins are insect group specific
and coded by a gene oy [Ac.

Statement II : Bt toxin exists as inactive
protoxin in 8. thuringiensis, Howover, after
ingestion by the insect the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut.

It the light of the above statements, choose the
correct answer from the options given below:

-t@ W Statement | is true but Statement Il is false
(2) Statement [ is false but Statement Il is true
{(3) Both Statement 1 and Statement II are true

QH) Buih Statement 1 and Staternent II are false

125 Which one of the following is not a critericn for

classification of fungi?
(1)

o (2)
{3}

| (@)

Mode of spare formation

Fruiting body

Morphology of mycelium

Maode of nutrition |

Code-T1

126

127

118

_alq#[a.ﬂ’l ,

The capacity to generate a whole plant from any
cell of the plant is called:

(1]
(2}

Differentiation

Somatie hybridization

@ (3)

Totipotency

{4) Micropropagation

Which of the following are required for the dark
reaction of photosynthesis?

A. Light

B. Chlorophyll
C. €O,

D ATP

E. NADPH

Choose the correct answer from the options given
belaw:

| (1)

C, D and E only

+(2)
{3)
(4)

D and E only
A, Band C only
B. C and I only

Tropical regions show preatest level of species
richness because

A. I'topical latitudes have remained relatively
undisturbed for millions of vears, hence
more time was available for species

diversification.

B. Tropical environmenls are more seasonal,

N

More solar energy is available in tropies,

D. Constant environments promote niche
specialization.

E. Tropical environments are constant and

predictable.

Choose the carrect answer [rom the options given
below:

{13 A,BandE only
(1) A,Band D only

|-(3] A, C,.Dand E only

{(4) AandBonly
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129

Identify the part of the seed from the given figure
which is destined to form root when the seed

germinates. -
LR

(1} C4

130

(3) A

How many molecules of ATP and NADPH are
required for every molecule Pﬂco? fixed in the
Calvin cyele? ;

{1y 3 molecules of ATP aml 3 molecules of
NADPH

3 molecules of ATP and 2 molecules of
NWADPH t=h

(2)

13

" (3) BB

132

2 molecules of ATP and 3 molccules of
WNADPH

2 molecules of ATP and 2 molecules of
NADPH -

(3)

(4

In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?

(1) Bh (2) BB/Bb
la(4) bb |

b

Hind 1l always cuts DNA molecules at a particular

point called recognition sequence and it consists
|

of:

(1) 4bp
(3) 8bp

(2} a'l'}:l!bp
W (4) 6bp

Code-T1

_zlq#[a,a’l .

133 Bulliform cells are responsible for

(1)
(2)

Increased phﬂtus}r?g!leﬁis in monocots.,
Providing large spa_e-:@ for storage of sugars.

|. (3)

Inward curling of l?ﬂ”‘-ves_ in monocots.

{4)

Protecting the plar_;ﬁ)irnm salt stress.

o

134  Match List T with List [}

List I List I
A, Two or more T, Back eross
alternative :m;
forms of a gene m
B. Crossof F, ﬁ: I Ploidy
progeny with ;*.".*
homozyvgous
recessive parent .
. Crossof F, T___, Il  Allele
progeny with £
any of the parents L'
D. Number of [ TV, Testoross
chromosome i_ﬁ:;
sets in plant
Choose the correct answer from the options given
below: v ‘
v (1) A-IILB-IV, C-1, DA |
(2) A-IV, B-II, C-l1, [f-i
(3) A-L B-IL CHIL, D-I\i{
(4)  A-1L B-1, C-III, DsFV

135  Auxin is used by gardenefs to prepare wead-free
lawns. But no damage ii:;’:iausgd to grass as auxin

y (1)

does not affect m#l.jrﬂ monocoty ledonous
plants. )

.8
L]

()

(33

(4)

can help n cell ‘-Eléwsmn In grasses, to
produce growth. 1!

promaotes apical dominance,

promates abscission of mature leaves only.
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136 Match List I with List 1l 13%  Maich List I with List 11 |
List L List 11 List I List IT
A, Rose [.  Twisted aestivation A, Robert May [.  Species-Area
B. Pea . Perigynous flower relationship
. Cotton 1. Drupe B. Alexander von II.  Long term
7. Mangno IV, Marginal placentation Humboldt CCOSYSIEMm
Chaose the correct answer from the options given experiment using
below, out door plots
{1y A=V, B-11, C-11, -] . Taul Ehrlich IIl. Global species
(23 AL B-IL, C-1V, DI diversity al about
&(3)  A-IL B-IV, C-1, -1 7 million
(4 A-L B-IL, C-III, D-IV D. David Tilman IV, Rivet papper
' hypothesis
137 The DNA present in chloroplast is: ("hoose the correct answer from the options given
below:

{1y Linear. single stranded
(1) A-1L B-1I1 C-01, DTV

(27 A-lI, B=1V. C-I1, D-I
(3) A-Il, B-III, C-1. D-1V
| o) AL B-L C-IV, D-11

{2y Circular, single siranded
{31 Linear. double stranded
| 4y Circular, double stranded |

138 ldentify the correct description about the given
figure: ' 140 Given below are twao statements:

Statement [ @ In ("5 plants, some (), hinds o
RuBisCO, hence CO, fixation is decreased.
Statement 11 : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light ol the gshove stawemenis, choose the
correct answer from the options given below:

4 (1) Statement | is true but Statement II is false
(21 Statement T is false but Statement 11 is true
(31 DBoth Statement T and Statement 1T are true

(41 Boh Statement 1 and Statement I are falss

{1} Cleistogamous flowers showing autagamy. . o i )
141 ldentify the slep in tricarboxylic acid cyele, which

(M Compact inflorcscence showing complete . s
I‘ P & P does not invalve oxidation of substrate.

AulnEamy. ]
e (3} Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

| (1} Succinyl-CoA — Succinic acid

(2} Isocitrate —» o -ketoglutaric acid

{4} Water pollinated flowers showing stamens ) Mahe agig, < Chnlonceticiapid

U-'ilh ml!Ci!ﬂgillDliS E‘-ﬂ‘r'f.“l'il'lg. {4l:| Succinie acid — Malic acid

DEHRADUN : 9690000899 | AGRA : 9837919228 | MATHURA : 8838899111 | KOTDWAR : 7251048466 Page # 20




— gl

A Premier Institute for MEDICAL & ENGINEERING Entrance Exams.

142  Match List | with List 11 145 Match List I with List I
List I List IT
List I List 11
H‘s . . {Types of Stamens) (Example)
A, Citric acid I Cytoplasm A. Monoadelphous 1. Citrus
eyele B. Diadelphous II. Pea
: . . C. Polvadelphous 1L Lily
B. Glycoly 1. Mitachondrial Jacep ¥
yeoysis I Q:E_mﬂ e D. Epiphyllous IV. China-rose
matrix Choose the correct answer from the options given
C. Electron II. Intermembrane below: '
t 1 : of (1} AL B-II, C-1V, D-111
ranspo plee el (2} AL Bl C-1V, D11
5}'5‘:@"] mitechondria l. {j} .&_}v’ B"I.I., C-L D-111 |
D. Proton IV. Inner 4y A-TV, B-1, C-11. D-111
gr'adient mitochondrial

146 Read the following statements and choose the set

membrane of carrect stalcments:
Chouose the correct answer from the options given In the members of Phacophyceae,
helow: ' A, Asexual reproduction occurs usually by
(13 A-ITL, B-1V, C-I, D-II biflagellate ZOOSPOrEs.
. Sexuval reproduction is by copamous method
(2} A-IV, B-IL C-11, D-I only.
(3y  A-l, B-11, C-III, D-IV C.  Swred food is in the form of carbohydrates

which is either mannitol or laminarin,
. The major pigments found are chlorophyll
a. ¢ and carotenoids and xanthophyll.
143  Which of the following are fused in somatic E. Vegetative cells have a cellulosic wall,
hybridization invelving two varieties of plants? usually covered on the outside by gelatinous
coating of algin,
| Choose the correct answer from the options given

| (4) AL B-1 C-IV, D-IIl #

| {1} Protoplasts

(2) Pollens below:

(3) Callus l‘ (1) A, C,DandE only
1 : ) (2} A B.CandFE only

{4y Somatic embryos (3} A, B.Cand D anly

(4) B.C, DandE only

144  Match List | with List 11
147 Match List [ with List [I

List X List 11 List1 List 11
A. GLUT-4 [. Hormone A Frederick l.  Genetic code
B. Insulin Il.  Enzyme Griffith _ .
C. Trvosin ML Intercellular B. FrancoisJacoh Il.  Semi-conservative
- R - e & lacque mode of DINA
ground substance Munond replication
D. Collagen IV. Enables glucose C. Har Gobind [l ‘Transformation
transport into cells Ehorana
; D Meselson & IY. Lac operon
Choose the correct answer from the options given - Stah!
below: Choose the correct answoer from the options given
(1) A-IL, B-II1, C-1V, D-I below:
(1} A-IL B-I1I, C-1V, D-1
(2) A-NL B-1V, C-1 D-Il (2) A-IV. B-L C-II, D-MII
[ (3) A-IV, B-l, C-II, D-IlL ® | (3} AL B-IL C-1, D-1V
4y A-l, B-II, C-I1, D-IV EE [o(4) AL BIV.CLD-II |
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148

149

150

Which of the following statement is correct

regarding the process of replication in E.coli?

{1} The DNA dc.pcndcnt DNA polymerase
catalyscs polymerization in 5° — 37 as well
as 3" — 57 difkktion.

The DNA dependent DNA polymerase
catalyses pol,:gmerizatiun in 3" = 3" direction.

(2)

{33 The DNA dependent DNA polymerase
catalyses polymerization in one direction
that is 3° —}5’.-:

The DNA ﬂ&‘pcndent RNA polvmerase
catalyses plﬂjrmr:nzatmn in one direction,

that is & —>lf,__

(4}

Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thua, ingreasing the yield?

(1) Cytokinin

{2) Abscisic aci__c'i:;

(3)

Auxin

(4) Gibberellin'

In an ecosystem |f‘ thc MNet Primary Productivity
{NFF) of first IIﬂphlL level is

100 (Foal et )vr . what would be the GPP
(Ciross Primary Productivity) of the third

trophic level of the same ecosystem?

-1

{1} Iﬂx{kc,ua'm }yr
(2) 100 (kc‘ al &,2} -
(3) %{kﬂafm_fi?»-_l
(4)  x Cheal m 2y pr !

Code-T1

151

oAawp

_zlq#[a,a’l .

Match List 1 with List II :
List1
Down’s syndrome I

List T1

110 chromosome
:I-Thalasser_nia Il. “X’ chromosome
L.

1.

p —Tha]aséﬁ&ia 21% chremosome
Klinefelter’s

syndromet )

16" chromosome

Choose the ¢ofrect answer from the options given
below J

(1} A-MI, BV, C-1, D-I1e

(2} A-IV, B-L, C-11, D-111
(3) A-L BAL C-I11, D-IY
{4}  A-II, B=L, C-1V, D-

¢ 4';.

152 Match List Uwith List IT ;

153

List I List IT
(Sub Phases of (Specific
Prophase characters)
Diakinesis I Synaptonemal
=it complex formation
Pachytene [I. Completionof
2 terminalisation of
2! chiasmata
Zygotene [II. Chromosomes
ok look like thin
o threads
Leptotene IV. Appearance of

- rccombination
b
i

nodules

Choose the cotrect answer from the options given
below: OUf

(1)

A-lL, B-IV, C-1, DT

ATV, BIIL CAL D1
A-IV, B, C-11L, D-1%
AL, B-II, C-IV, D-II

(2)
(3)
(4)

Which of thgfﬂlluwmg factors are favourable for
the f‘onnatmn nf‘umyhaemubluhm in alveoli?

(1Y Low ]:'_CD: and High H* concentration
(2} Low pCO, and High temperature
(3) igh EQE and High pCQ,

(4) High pO, and Lesser H* concentration
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154

153

156

Match List 1 with List 11 :
ListI List I1
A, Tvphoid I Fungus
B. Leishmaniasis II.  MNematoods
C. Ringworm 1T, Protozoa
[x. Filariasis IV, Dacteria

Choose the correct answer fiom the opticns given
below :

(v AL B-1, C-IV, D1
(2} A-ll, B-1¥, C-11L -1
3y A-LBNLCIL, DV
4y AV, B-IIL C-ILLD-11 »
Match List Iwith List 11 -
ListI List II
A. Expiratory I.  Expiratory reserve
capacity volume + Tidal
volume |
Inspiratory rescrve
volume
B. Functional 1. Tidal volume +
residual Expiratory raserve
capacity volume

. Vital capacity III. Tidal volume +
Inspiratory reserve
volume

[, Inspiratory IV, Expiratory reserve

volume + Residual
volume
Choose the correct answer from the options given
below :
(1)) A-IL, B-L, C-IV, D-II
(21 AL B-[II, C-11, D-TV

capacity

| C(3) A-IL BV, C-1, D-Il @

(4] A-NL B-I0, C-1V, -1

Which of the following are Autoimmune
disorders?

A, Myasthenia gravis

B. Rheumatoid arthritis

C. Gout

». Muscular dvstrophy

E. Systemic Lupus Ervthematosus (SLE)
Choase the most appropriate answer from the
uplivns given below

(1" B,C&F only

(2) C.D&E only

(30 A.B&Donly

(47 A.B&Eonly e

Code-T1

jrmaram .

157  Given below are two statements :

Statement I : [n the nephron, the descending limb
of loop of Henle 15 impermeable to water and
permeable to electrolytes,

Statement IT : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reahsorption.

In the light of the ybove statements, choose the
correct answer from the options piven below :

{1y Statement I is true bul Stalement 1T 15 False
o (2} Statement | is false but Statement 11 is true
{3) Baoth Statement | and Statement Il arc true
| {4} Bath Statement | and Statement Il are false |
138  Which of the tollowing is not a steroid hormone?
{13 Progesterone

161

|{2] Glucazon « |

(2) Corhsol
{4} Testosterone

Given below an: two statements @ one is labelled
as Assertion A and the other is labelled as
Reason R -

Assertion A ; FSH acts upon ovarian follicles in
female and Leydig cells in male,

Reason R : Growing ovarian follicles secrete
estrogen in female while interstitial cells secrete
androgen in male human being,

In the light of the above statements, choose the
correct answer from the options given below ;
(1Y Aistrue but R is false

(¥ Ais false but R is true

{7) Roth A and R are true and R is the correct
explanation ol A,

{43 Both A and R are true but R is NOT the
correct explanation of A,

Given below are some stages of human evolution.
Artange them in correct seguence. (Past to
Recent) '

A, Homo habilis

B.  Homo sapiens

C. Homo neanderthafensis

D Homo erectus

Choose the correct sequence of human evolution
fromm the options given below :

(1} C-B-D-A |(2) A-D-C-B®

{3y D-A-C-B (4} B-A-D-C
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161 ‘Ihree types of muscles are given as a, b and ¢.
Identily the correet malching pair along with their
lercation in homan body ;

Name of muscle/lova livn

i1y {a) Skeletal -
{b)y Involuntaty - Intestine
() ~5m el = leart.

{2y (a3 Illvﬂlujir'ﬁry-}msc tip
(k) Skeletﬂ:!i'—:'Bone
() Cau‘dieu.é’ - kl lesrt.

(3} (a) Smooth, ::Tocs
(h} Skeletal - Legs
(o) Cardize - Hearl.

pldt (a) Skeletal«Triceps
(b} Smoath - Slemach
(o) Cordings:

Biceps

Aleurl.

162  Maich List | witt? f_j’ist 11:

List I . Listm
A Cocaine 1. LCiffcctive sedative in
surgery
B. Hervin Al Clunnabis seiiva
. Morphine AL Erptbroxylim

13, Marjjuana 1Y
Choose the l._urrl._L{ ariw«-ﬁ_r from the options given
below : :
(1) A-IL B-1. o[, D-1V

le (23 AL BRIV, C-1, DI
(37 A-IV, B—III_.IC—.L -1
(43 A-L B-IIL C-, D-IV

Papaver sompiferum

163 The *Ti plasmid” ;-rgf.f-igﬁ;r.ﬁm.'!r:f'izmr Cranzeforc ey
stands for g
l- (13 Tumor induging plasmid |
(2} TemperaturgdAndependent plasmid
{3} Tumour inhibiting plasmid
{4}  Tuomor independent plasmid

Code-T1

_alqﬂ:[a,a’l .

164  Which one is the correct product of DNA
dependent RNA polymerase to the given
remplate? A

VTACATGGOAA ﬂ"f'ﬁTCCATTCAS’

(1) STAUGUACCE EJ{}[ AUAGGGAAGLY
(2) 37AT ErTALCUTT’[&TA[:hIAM: 13
|*k3] 5’A'I.'EILMCCGUULHL'MJ(-UAA‘L:[H
(4) SAUGUAAAGUUUALAGGUAAGUS

163 Match List [ with List 1 :
£

List I : List I1
A Preraphyifim *}{ I.  Hagfish
B, AMeine : ;::?-t [I.  Saw fish
C. Pristis ¢y TL Angel fish
D. Exocoeius THIV. Flying fish
Choose the correet ankwer trom the aptions given
below :
(1) A-IV.B-L C-IL D-l

e(2) A-IIL B-IL, C1 :r}w
(3) A-IL Bl C-1fl, D-IV
(4)  A-II, B-l, C-ILD-IV

Faj
166 Match List [ with Eist 11 :
List T Y1 Listnn
A. Fibrous joints I.  Adjacent
Fi viortchrae, limited
i movement
B. Carilaginous % I Humerus and
Juints x Pecloral girdle,
' rotational
: " : movement
C. Hinge © ML Skull, don't
joints ' allow any
ek maovement
D. Ball and _,::'L IV. Knee, help in

sockel joints ey locomotion

Choose the correcta@imswer from the options given
below - |
{1y A-ll. B-UI, C-LD-1V
le (20 AT B-L, CIV, DI
(31 A-IV, B-II, C-TI, D1
4y A-L B-111, C-11, D-1v
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167 The flippers of the Penguins and Dolphins are | 170 Given below are two statements - one is labelled

the example of the as Assertion A and the other is labelled as
|- (1} Convergent evolution Reason R : g

(2) Divergent evelution Assertion A : Dreast-feeding during initial period

(3) Adaptive radiation of infant growth is recommended by doctors for

{4y Natural 5elen:1ii‘,m_1 bringing a healthy baby.

i L T . :
Reasen B : Colastrum contains several antibodics

. absolutely es ntial " rsistance for ¢
168 Match List [ with Lljﬁﬂ]l: abso | nhial to dexvelop resistance for the

I3y new born baby.
ListI : List I1
. s i In the light of the above statements. choose the
AL -l antitrypsin . Cotton bollworm ) . ) ,
maost appropriate answer from the options given
B. TrylAb I, ADA deficiency A :
- below o
e ; s NI Emphys : p
Cry lAc - Pl {1} Aiscorrect but R4S not correct.
N Enzvme CEIV. O cr ] it
i : Corn bor (2) A isnot correct but R is correct.
replacement . - ,
placemer il {3) Both A and R are cowect and R is the correct
therapy Ly explanation of A% ¢
Choaose the correct ar:s‘_#c:r from the options given (4} Both A and R are eorrect but R is NOT the
below : ul

correct explanation of A,
| (1) AL B-IV. C-I. D11 -

(2) AL B-IV. C-1 O

171 Which of the following!is not a component of

(3} A-IL B-l, C-IV2BHIII Fallopian tube?
4) A-IL B-L C'”‘: ?'IV i1} Infundibulum 1
i (2} Ampulla b3
169 Match List I with Listd! : [F3) Uterine fundus
. i ; . i
List 1 List 11 (4y lsthimus
A Axoneme [. Centriole
B, Cartwheel VAN Cili agell _ _
Cartwhee 1 Cilia and flagella 172 Which of the following statements is incorreet?
attern e . d
P - b a (1) Bio-reactors are osed to produce small seale
. P
. Crista Gl Chromosome hactcriulcultureéf ;
. Satellite IV, Mitochondria 2

{2) Bio-reactors have an agitator system.

i ;
Choose the correct answer from the oplions given an oxygen delivery system and foam control

below : syStem. _

(1) A-IL B-IV. C-LD-11] [ (3 A bio-reactor ﬁfuvides optimal growth
+(2) A-IL B-1, C-IV QI-II] | conditions lor acfiif?ving the desired product.

(3)  A-IV. B, {—I;iﬁ D-1 (43 Most cmn.munlg,;'-ufscd bic-reactors are of

(4} A-IV, B-11, C-111; D-1 stirring type, 1.
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176 Tollowing are the stages of pathway for

List I
A. Pons I

List Il

Provides additional
space for Neurons,
regulates posture
and balance.

B. Hypothalamus Il.  Controls
respiration and

gastric secretions.

. Medulla (II. Connects different
r;.’:giﬂns of the
brain.

D, Cercbellum IV. MNeuro secretory

cells

Choose the comrect answer from the options given
below :

(1} A-L B-I1, C-IL. D-1V
{21 A-llL B-1, C-lIL B-1V
(3 AL B-IL C-LL DIV
J (4} A-IIL, B-1V, C-1I_ D-I
Match List I with List 11 :
List I List IT
A. Lipase L. Peptide bond
B. MWuclease II.  Ester bond
C. Protease 1. Glyeosidic bond
D Amylase 1V,  Phosphadiester bond

Choose the comrect answer from the options given
below :

| (1} AT, BV, C-1, D-1I1
(2) A-IV. B.L, C-IT1, D11
(3)  A-IV, B-I1, C-1II, DI
(4)  A-IIL B-IL, C-1, D-IV

Which of the following is not a natural/traditional
contraceptive method?

(1}
| (2)
(3)
{4)

Lactational amencrrhea
Vaults 4 |
Coitus intermuptus

Teriodic abstinonce

177

conduction of an action potential through the
heart:

A, AV bundle

B.  Purkinje libres
C. AV node

[},  Bundle branches

E. SAnode

Choose the correct sequence of pathway from the

options given below :

(1} B-D-E-C-A
[ (3 E-C-A-D-B

E-A-D-B-C
A-E-C-B-D

(2)
| (4)

Batch List [ with ListIT:
List 1 List II
A, Pleurobrachia I.  Mollusca
B. Radula II. Crenophora
C. Stomochord I1l. QOsteichthyes
D. Airbladder IV. Hemichordata

Choose the correct answer from the options given
below :

(1) A-IL B-1V, C-I, D-II
(21 A-IV, B-NII, C-I1, DI
(3} A-IV, B-II, C-111, D-I
| (4} A-lL, B-I, C-V, D-1II

178  Match List Twith List 11

List T List 11
A, Common cold . Flevmendiom
B. Haemozoin Il Tvphoid
C. Widal test .  Rhinoviruses
D. Allergy IV. Dust mites

Choose the correet answer from the options given
below :

L (1} A-lII, B-1, C-L D-1V

(2} A-IV. B-I1, C-I1, D-1
{3) A-IL B-1V, C-III, D-1
(4)  A-1, B-III, C-II, D-1V
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172 Consider the following statements !

180

181

182

A, Annelids are true coelomates

B. Poriferans are pscudamlnmates

C.  Aschelminthes are ax:qaip mates

D. Platvhelminthes are pééddumelﬂnwtes

Choose the correct answer ﬁ'n;n the options given
below :

{1} Conlv
(3} Bonly

(2) DnMy
| (4) Aonly e |

In 'both sexes of cockroachy a pair of jointed
filamentous structures calledanal cerci are present
on: &

(1) & and O segment /

{2)
(3 5t segment

111 segment

(4}

1 0P segment e |

Given below are two staterients :

Statement [ ; The presence {iﬁ‘ absence of hymen
is not a reliable indicator r.)f T\-'llgmlty

Statement II: The hymen is tom during the first
coitus only.

In the light of the above statements, choose the
correcl answer from the optiens given below

(1) Statement] is true buf’ﬁtatement 1l is false |

{2) Statement 1 is false but Statement II is true
(3) Both Statement | and ‘E‘iﬁucment Il are true

Ll
(1) Both Statement | and Staternent I[ are false

i
Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?
()

Gene migration i

(2)

Constant gene pool ¥}

Genetic recombination !

Gengtic drift

(3)
(4)

Code-T1

_alq#[%.a’l .

183  The following diagram showing restriction sites

in £.coli eloning vector pBR322. Find the role of
"X and * ¥’ genes :

EmR --Clal Hind M

Py 11

{1} The gene “X’ is for protein involved in
replication of qusqlicl and * ¥ for resistance
to antibiotics. __;

Gene X" is respégéible for recognition sites
and “F" is rt::i_ﬂun sible for antibiotic
resistance.

The gene X is responsible for resistance to
gntibiotics and * Y‘Pfor protein involved in
the replication of Plasmid.

(2}

(3)

(4) The gene “X" is responsible for controlling
the copy number of the linked DNA and * ¥*
for protein invelyed in the replication of

Plasmid. =g

L

.;\

184 Match List [ with Llsl;_!,l

185

List 1 List IT
Mon-medicared [UD [. Multiload 375
Copper releasing [L.If} ll. Propgestogens
Hormone releasing 1D T1I,  Lippes loop
Iinplants IV, LNG-20

Choase the correct answer from the options given
below :
A-IV, B-1, C-II, ﬂ‘IlI

AL, B-1, C-IV.D-1I |

AT B-1, CAILIRTY
A-L B-II, C-1v{D-1I

Following are the stqge:s of cell division :

A. Gap 2 phase

B. Cytokinesis

C. Synthesis phasa

D. Karvokinesis .

E. Gap 1l phase [T

Choose the correct sequence of stages trom the
options given below

(1) B-D-E-A-C | #(2) ECADB

(3) CEDAB {3 EBDAC
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186 Choose the corrcet statement given below | 189

regarding juxta medullary nephron.

|

{1} Loopof Henle of juxta medullary nephron
runs deep into medulla,

187

188

Juxta medullary nephrons cutnumber the
cortical nephrons,

(3}

Juxta medullary nephrons are located in the
columns of Bertini,

(4]

Renal corpuscle of juxia medullary nephron
liey in the outer portion of the renal medulla.

The following are the statements about non-
chordates ;|

Pharyvnx is perforated by gill slits.
Notochord is ahsent.
Central nervous systemn is dorsal.

Heart is dorsal if present.

m oo w

Past anal a1l is absent.

Choosc the most appropriale answer (rom the
cptions given helow :

(1) B.D&E only |

(2) B.C A& Dunly
(3) A& C only
4y A B&Donly

Given below are two statements ;

Statement 1 : Mitochendria and chloroplasts are
hoth double membrane bound creanelles.
Statement IT : Inner membrane of mitochoendria
is relatively less permeable, as compared to
chloroplast.

Inthe light ofthe above statements. choose the most
appropriate answer from the options given below :

Statement [ is correct bul Statement 11 is
incorrect,

(1)

Statement | is incorrect bul Statement II is
correct.

(2)
{3} Both Statermentl and Statement Il are correct.
(4} Both Statement I and Statement 1] are
incorrcet.

_zlq#[a,ﬂ’l .

Regarding catalytic cycle ol an enzyme action,
select the correct sequential steps

A, Substrate enzyme complex formation.

B. Free enzyme ready to bind with another
substrate.

C.  Release of products.

L. Chemical bonds of the substrate broken,

k. Substrate binding to active site.

Choose the correct answer from the options given
below .

(1) B.A,C,D,E

(2} E,D,C,B,A

3) E,AD.C.B

190

Al

B.

4 AEBDC

Mlatch List [ with List 11 -
List I
P wive I

List IT

Heart muscles are
electrically silent,
Depolarisation of
ventricles,
Depolarization of
alria.
Repolarization of
ventricles.
Choose the correct answer from the options given
below : '

(1)  A-IIL, B-MI, C-I, D-1V

(2} A-IV.B-ll. C-I, D-IN

(3} AL B-I, C-IV. D-11

QRS complex I1.

T wave [I.

T-I' gap I,

(#)_A-NI, B-IL CAV, D |

191

Given below are two statements
Statement I : Bone marrow is the main lymphoid
organ where all blood cells including lvmphocytes
are produced.
Statement II : Both bone marrow and thymus
provide micro environments for the development
and maturation of T-lymphocytes.
In the light ofthe above statements, choose the mast
appropriate answer from the options given below
(1} Statement I is correct but Statement 11 is
InCOrTact.

2)  Statement [ is incorrect but Statement 11 s

CLTEC.

Both Statement | and Statement IT are mrrect,l

Both Statement [ and Statement II are
ingorrect.
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Match List | with List 1] : 195
List I List Il
A Unicellular glandular 1. Salivary glands
epitheliom

193

Pancreas
Goblet cells of
alimentary canal

B. Compound epithelium Il

C. Multicellular .
glandular epithelium
Endocrine glandular
epithelium

Choose the correct answer from the options given
helow :

[V, Muoist surface of

buceal cavily

[ {1} A-lIL, B-1V, C-1, D-TI

2y A-IL, O-L C-TV, DI
(3) A-IL B-I C-II, DIV
(4} A-IV, B-IIL, C-1, D-I

Given below are two statements @

Statement 1 ; The cerebral hemispheres are
connected by nerve tract known as ¢orpus
callosum.

Statement I1 : The brain stem consists of the
medulla oblongata. pons and cerchrum.

In the light of the above statements, choose the
musl appropriate answer from the options given
below -

{1y Statement I is correct bur Statement Il s
incorrect.

Statement | is incorrect but Statement 1L s
correct,

{2)

[3) BothStatement ] and Statement 11 arc correct,
(4} Both Statement I and Statement Il arc
incorrect.

194 Maich List | with List I[ :

List I List IT
A, RNA polymerase III I.  snRNPs
B. Termination of
transcription . Promotor
C. Splicing of Exons [1l. Rho factor
0. TATA box IV. SnRNAs, IRNA

Cheoose the correct answer from the options given
below ;
(13 A-NIL BAY, C-1, DI

s () AV, B-lIL C-1. D-II

(3) AL B-1v, C-1, D-111
(4) A-IL B-IL C-1V, D-I

196

B. Proterocoic Era L

(. Cenoroic Ern

D.

_z.lﬂ#[%.a’l .

Mlatch Last I wih Last [T ;
Last 1 List IT
A Mesoaroic Fra 1.  Lowerinvertebrales

Fish & Amphibia
M. Rirds & Reptiles

Paleceoic Era [V, Mammals

Choose the correct answer from the options given

below :

(1 A-L B-11, C-1V, D-II1

| () AL B-L C-IV. DIl

(3) AT, Rl C-NE, DIV

(4y A-NL B-1 C-1I, D-1V

Ciiven below gre bawo stalements -

Statement I @ Gause’s competitive exclusion
principle states that two closely related spocics
competing tor different resources cannot exist

indefinitely,

Statement Il ¢ According to Gause's principle,
during competition, the inferiorwill be climinated.

This may be true if resources are limiting,

In the light of the above stalements, choose the

correct answer from the options given below ;

(1) Siatement I is true but Statement 11 is lalsc,

|"{2J Starement I is false but Starement I1 is true,

{37 Both Statement [ and Stalement 1 are troe.,

Both Statement 1 and Statoment L are false,

i

4
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197 Match List I with List II :
List I
A. Exophthalmic L

goiter

O

B. Acmmegalyi;; M.

% ]
A
C. Cushings 4 I
syndrome
D. Cretinism v,

£

e

Code-T1

List II

Excess secretion of
cortisol, moon face &
hyperglycemia
Hypo-secretion

of thyroid hormaone
and stunted growth.
Hvper secretion

of thyroid hormone &
protruding eye halls.
Excessive secretion
of growth hormone.

Choose the cormSigt answer from the options given

below : {i
(1) A-IL BV, C-II, D-I

le (2)

A-I1, B-[‘;?'i,;ic-l. D-11

(3) AL B-1L C-II, D-IV
{4} A-IV, B-II, C-1, D-II
198 Identify the cortect option (A), (B), (C), (D) with
respect ta sperﬂjgmgenesis.
ik
UnkH
|
i |
LH (A)
+ 4
B . (<)
A +
Ardrogens. Factors
Eh ]
Y +
Formation of spérmatids (m
L
{1} FSH, Sertoli cells, Levdig cells,
spermatogenesis.
(2) 1CSH, Leydig cells, Sertoli cells,
spermatogenesis.
o (3) FSH, Leydig cells, Sertoli cells,
spermioglnesis
(4) ICSH, Interstitial cells, Leydig cells,

spermiogeriesis.

_alqﬂ:[a,a’l .

199 As per ABO blood grouping svstem. the blood
group of father is BT, mother is AT and child is
O Their respective genotype can be

A, IH ILH';_H i

B I“[B}":I’""‘I"‘I ii

C. IAIBHIA /19

D. 1A 1%/ 1A

E. ilB/ilA/ AR

Choose the most appropriate answer from the

options given below :

{1y C& B_;Erni}f
Mo Aanty,

FHR

(2) D&Eonly
| (4) Bonly

200 Match List'with List 11 related to digestive system
of cockroach.

List I List IT
The structures used I.  Gizzard
for storii% of food.

B. Ring ¢f§:8 blind Il. Gastric
tubuleg_a-lf‘;junctiun of Caeca
foregut ,anci midgut.

C. Ring of 100-150 yellow

I, Malpighian

colourgd thin tubules
filaments'at junction of
midgut:%d hindgut.

D. The 5trfii~'ai:urr:5 used V. Crop

for gril;gi:ng the food.

Choose the correct answer from the options given
below .

(1) A-IV; B, C-11, DI
@) A-ILB-IL C-IV, Dl
[0 (3) A-IV,B-IL, C-II, D1
(4) Al Ball, C-lII, DIV

DEHRADUN : 9690000899 | AGRA : 9837919228 | MATHURA : 8838899111 | KOTDWAR : 7251048466 Page # 30




Heartiest Congratulations
fo all students on getting Admission in Medical Colleges

a& "
P, M,; ot i 5L

Manish Singh  Lavish Chaudhary Vani Thakur Ayushl Tiwari Sakshi Lasival Akshat Panwar

AN A5TR A 44D LT LT
= o

’ -y thr |¥. i i‘r/ o -
Ananya Tyagi Ishita Rawat Shubh Shukla Shivani Ringola Ambika Pant  Nishita Thapliyal

Bhuw Smgh Charul Sharma Mohit Singh

&

Privanshu Raj Verma  Shivani Negi Rahul Kumar Shivanshi Rawat Manprlt Kaur Jasneet Kaur

M., Haldan
T

Raman Rawat Bhupesh 5. Thalal  Privanka Negi Abhishek Nautiyal}

Trapti Yadav [ 7 s S8 "y AR A Mukesh Singh

T - Vi % & GM.C. Kerna




